SATPREP

Assignment- Ellipse

Name

Date

Identify the center, vertices, co-vertices, foci, length of the major axis, length of the minor axis,
length of the latus rectum, and eccentricity of each. Then sketch the graph.
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Answers to Assignment- Ellipse
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X (-~/3,0)

Major Axis: 4 units
Minor Axis: 2 units
Latus Rectum: 1 unit

Eccentricity: 73 =~ 0.866

Center: (O, 0)
Vertices: (3 \E 5 O)
(-3+/5,0)
Co-vertices: (O, 2\/9
(0, 2+/5)

>» Foci: (5, 0)

D I C\OD\

x  (-5,0

Major Axis: 6~/5 units
Minor Axis: 4\/§ units

8V5 .
Latus Rectum: units

Eccentricity: g =~(0.745

Center: (0, 0)
Vertices: ( 7)
-7)
Co-vertices: (6, O)
(-6.0)

Foci: (0, \/B)

0,
(0,

<«

o0 N
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 (0,-V13)

Major Axis: 14 units
Minor Axis: 12 units

72 .
Latus Rectum: 7 units

V1
Eccentricity: TS ~0.515

Center: (O, 0)
Vertices: (0, 6)
(0,-6)
Co-vertices: (5, O)
(-5.0)

. Foci: (0, \/H)

X (0, - \/H)

Major Axis: 12 units
Minor Axis: 10 units

25 .
Latus Rectum: ? units

V11
Eccentricity: o - 0.553

Center: (0, 0)
Vertices: (3, 0)
(-3.0)
Co-vertices: (0, 1)
(0,-1)

Foci: (2\6, O)

% (22,0

Major Axis: 6 units
Minor Axis: 2 units

2 .
Latus Rectum: 5 units

Eccentricity: # =~0.943

2)
Center: (0, O) 8\ Y Center: (0, 0)
Vertices: (2, 0) Vertices: (3, O)
(=2,0) (-3,0)
Co-vertices: (O, 1) Co-vertices: (0, 2)
(0, -1 (0,-2)
. Foci: (\/g, 0) . Foci: (\/g, 0)

AN

D G\ o0
/

X (-~/s,0)
Major Axis: 6 units
Minor Axis: 4 units

8 .
Latus Rectum: g units

Vs
Eccentricity: Y ~0.745

Center: (0, O)
Vertices: (0, 7)

(0,-7)
Co-vertices: (3, O)
(=3,0)
_ Foci: (0,210

7 3]
I /T |
o0 S 0]
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~  (0,-2~10)
Major Axis: 14 units
Minor Axis: 6 units

18 .
Latus Rectum: 7 units

Vio =~0.904

L2
Eccentricity:

Center: (O, O)
Vertices: (6, 0)
(-6,0
Co-vertices: (0, 4)
0, -4

Foci: (2\/; 0)

o0

v (250
Major Axis: 12 units
Minor Axis: 8 units

16 .
Latus Rectum: ? units

Eccentricity: g =~0.745

Center: (O, 0)
Vertices: (0, 2\/5)
(0, -2+/5)
Co-vertices: (\/g, 0)
(-+/5.0)

> Foci: (0, \/a

¥ (0.-1s)
Major Axis: 4\/§ units
Minor Axis: 2\/§ units
Latus Rectum: \/g units

Eccentricity: 73 =~ 0.866

Center: ( A O)

o0

0
Vertices: (2\@, 0)

(-2+/10,0)

S

Co-vertices: (O, \/E

(0,-+10)

> Foci: (\/5, 0)

X (30,0)

Major Axis: 4V 10 units

Minor Axis: 2V 10 units

Latus Rectum: V 10 units

3
Eccentricity: - = 0.866



11) 12)

g Y Center: (O, 0) 8\ Y Center: (0, 0)
Vertices: (4, 0) Vertices: gS, O))
0 (-4,0) -5,0
4 Co-vertices: (0, 2) 4 Co-vertices: (0, 2)
(0, -2) (0,-2)
Foci: (2+/3,0) Foci: (V21,0)
- : - N,
I ) P > (2+/3,0) R b\a & | 2 &V > (=21,0)
= Major Axis: 8 units = Major Axis: 10 units
=4 Minor Axis: 4 units =4 Minor Axis: 4 units
Latus Rectum: 2 units 8 .
=6 3 =t Latus Rectum: g units
g Eccentricity: T =0.866 =8 21
Y 4 Eccentricity: =~0.917
13) 14)
Y Center: (O, 0) 8\ Y Center: (0, O)
Vertices: EO, 4)) Vertices: (7, 0)
0, -4 -7,0
Co-vertices: (2, ()) 4 Co-vertices: (0, 2)
(-2,0) (0,-2
. Foci: (0, 2\/5) — ™ . Foci: (3\5, 0)
v (0.-2v3) o L 5 (35,0
Major Axis: 8 units Major Axis: 14 units
Minor Axis: 4 units —4 Minor Axis: 4 units
Latus Rectum: 2 units 8 .
=6 = Latus Rectum: — units
A 7
-9 Eccentricity: 0.866 = 345
\ 4 Eccentricity: =~0.958





